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by O. Garćıa and F. Ruiz, Forest Ecology and

Management 173, 49–62, 2003

• Bits missing at the end of the H and B rate equations in (14):
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• A whole bunch of wrong signs in and around (15)–(17):

“It is found that p = β/[m(γ − k)]. Defining

x ≡ ac
− Hc ,

y ≡ Nγ , (15)

z ≡

α
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− BH −
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we can write three independent equations

dx
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= −
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= −γmy ,

dz
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= −kmz ,

and the general solution,

x = e−(1/7)(t−t0)x0 ,

y = e−γm(t−t0)y0 , (16)

z = e−km(t−t0)z0 .

...

B =
α/(km) − (β/(m(γ − k)))y − z

H
. (17)

”

• Three references to (13) should be to (12):

– Page 57, middle of first column: “given in (2). (7), and (12)”.

– Last paragraph of page 57, in two places.


